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10 13 14 14 51 1 0 3
0 7 7 0 14 0 1 0
PLAY

1 6:04 | FG [#17 30 | - - 310
1 9:00 | RUN |#28 81 | K [#17 G 10| 0
2 0:59 | FG |#17 38 | - 13| 0
2 7:24 | FG |#17 30 | - - 16| 0
2 | 10:10 | RUN [#33 6 | K |m7 G 23| 0
2 | 12:00 |PASS|#9 #31 29 | K [ #2 G 23| 7
3 4:32 | RUN [#30 5 | K |#7 G 30| 7
3 8:51 | RUN |#23 48 | K |#17 G 37| 7
3 | 11:46 | PASS|#10 #81 23 | K |#= G 37| 14
4 3:31 | RUN [#27 9 | K |m7 G 44| 14
4 8:50 | PASS |#18 #1 2 | K |#e G 51| 14
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Q[ o TOGO| PLAY  PLAYERS q[ No T0G0| PLAY  PLAYERS
1|B 16 11 | RUN 3 > 1l 1 |B 39 6 PASS - 5 >
2| 2 |B 30 13 | RUN 9 > 2 |B 38 8 PASS - >
3 |A 43 3 RUN 16 o 3 |B 36| 10 RUN -16 >
4 |B 10 5 [PASS - -3 > 4 |B 34 1 RUN 2 o
BN EED o | x| [2f s |a as]14]pass B 56 | o
6B 35| 1| RUN 2 | o
3 6 [a 30| 7 [pass B 6] o 7 |a a3] 8 | pass B 7 | =
4 7 |A 4 2 RUN 9 o
8 |B 45 5 RUN 13 o 3l 8 (B 20 9 PASS - 17 o
9 |B 15 3 [PASS - 2 > 9 |B 40 7 RUN 16 o
10 (B 47 19 RUN 15 >
1B 25| 10| Pass % | o
o 12]B 23| 15 | Pass B <
13]B 44 1| RON o | =
14 |B 36| 22 | Pass B 5 | x
| 9 I 4 | | 44.4% | 14 | 6 | 42.9%
of o TOGO| PLAY  PLAYERS q[ no T0Go| PLAY  PLAYERS
1] 4] s | R 23|o| [4 1]8 a4 1] ron 4 | o
2 |8 a1 | 17| pass B <
4 2 [B 13 1 RUN 3 o
[ 2] 2 | [ 10006 [ 2] 1] 50.0%




